Probability: Describing Distributions
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3-CAS.F03.17] Losses have an Inverse Exponential distribution. The
mode 1s 10,000. Calculate the median. \
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T
A. Less than 10.000

B. At least 10.000. but less than 15.000

C. At least 15.000. but less than 20,000

D. At least 20.000. but less than 25.000
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3-CAS.F03.19] For a loss distribution where 2 > 2. vou are given:
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9 OC(Y) =~ 0 w <L
(i) The hazard rate function: h(x) = —, for x > 2 h (y)=o v C L
2T
(11) A value of the distribution function: F(5) = 0.84.
Calculuate z.
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